name: <unnamed>
log: C:\Users\ljzig\Desktop\ANES 2020 Political Violence.smcl
log type: smcl
opened on: 9 Mar 2021, 14:26:32
use "D:\L.J\research\3 datasets\anes timeseries 2020 stata 20210211\anes timeseries 2020 stata 2

do "C:\Users\ljzig\AppData\Local\Temp\STD560c 000000.tmp"

tab V201602

PRE: Justified to use violence Freq. Percent Cum.
-9. Refused 69 0.83 0.83
-5. Interview breakoff (sufficient part 4 0.05 0.88
1. Not at all 7,030 84.90 85.79
2. A little 514 6.21 91.99
3. A moderate amount 425 5.13 97.13
4. A lot 115 1.39 98.51
5. A great deal 123 1.49 100.00

Total 8,280 100.00

recode V201602 (-9=99) (-5=.), gen(violJUST)

(73 differences between V201602 and violJUST)

tab V201602 violJUST, mi

PRE: Justified to use RECODE of V201602 (PRE: Justified to use violence)
violence 1 2 3 4 5 99
-9. Refused 0 0 0 0 0 69
-5. Interview breakof 0 0 0 0 0 0
1. Not at all 7,030 0 0 0 0 0
2. A little 0 514 0 0 0 0
3. A moderate amount 0 0 425 0 0 0
4. A lot 0 0 0 115 0 0
5. A great deal 0 0 0 0 123 0
Total 7,030 514 425 115 123 69
tab v201228
PRE: Party ID: Does R
think of self as
Democrat, Republican, or
Independent Freqg. Percent Cum.
-9. Refused 44 0.53 0.53
-8. Don't know 4 0.05 0.58
-4. Technical error 1 0.01 0.59
0. No preference {VOL} 7 0.08 0.68
1. Democrat 2,864 34.59 35.27
2. Republican 2,564 30.97 66.23
3. Independent 2,527 30.52 96.75
5. Other party {SPECIFY} 269 3.25 100.00
Total 8,280 100.00




8 recode V201228 (-9/0 5=.), gen(pid3)
(325 differences between V201228 and pid3)
9 tab V201228 pid3, mi
PRE: Party ID: Does R
think of self as RECODE of Vv201228 (PRE: Party ID: Does R
Democrat, Republican, think of self as Democrat, Republican,
or Independent 1 2 3 Total
-9. Refused 0 0 0 44 44
-8. Don't know 0 0 0 4 4
-4. Technical error 0 0 0 1 1
0. No preference {VOL 0 0 0 7 7
1. Democrat 2,864 0 0 0 2,864
2. Republican 0 2,564 0 0 2,564
3. Independent 0 0 2,527 0 2,527
5. Other party {SPECI 0 0 0 269 269
Total 2,864 2,564 2,527 325 8,280
10
11 . tab V201600
PRE: What
is your (R)
sex?
[revised] Freq. Percent Cum.
-9. Refused 67 0.81 0.81
1. Male 3,763 45 .45 46 .26
2. Female 4,450 53.74 100.00
Total 8,280 100.00
12 . recode V201600 (-9/-1=.), gen(gender)
(67 differences between V201600 and gender)
13 . tab v201600 gender, mi
PRE: What
is your (R) RECODE of V201600 (PRE: What is
sex? your (R) sex? [revised])
[revised] 1 2 Total
-9. Refused 0 0 67 67
1. Male 3,763 0 0 3,763
2. Female 0 4,450 0 4,450
Total 3,763 4,450 67 8,280
14
15 . tab v201549x
PRE: SUMMARY: R self-identified
race/ethnicity Freq. Percent Cum.
-9. Refused 96 1.16 1.16
-8. Don't know 6 0.07 1.23
1. White, non-Hispanic 5,963 72.02 73.25
2. Black, non-Hispanic 726 8.717 82.02
3. Hispanic 762 9.20 91.22
4. Asian or Native Hawaiian/other Pacif 284 3.43 94.65
5. Native American/Alaska Native or oth 172 2.08 96.73
6. Multiple races, non-Hispanic 271 3.27 100.00
Total 8,280 100.00




16 . recode V201549x (-9/-1=.), gen(race)
(102 differences between V201549x and race)

17 . tab Vv201549x race, mi

PRE: SUMMARY: R
self-identified RECODE of V201549x (PRE: SUMMARY: R self-identified race/ethnicity)
race/ethnicity 1 2 3 4 5 6
-9. Refused 0 0 0 0 0 0 9
-8. Don't know 0 0 0 0 0 0
1. White, non-Hispani 5,963 0 0 0 0 0
2. Black, non-Hispani 0 726 0 0 0 0
3. Hispanic 0 0 762 0 0 0
4. Asian or Native Ha 0 0 0 284 0 0
5. Native American/Al 0 0 0 0 172 0
6. Multiple races, no 0 0 0 0 0 271
Total 5,963 726 762 284 172 271 10

18
19 . svyset [pw=V200010a]

pweight: V200010a
VCE: linearized
Single unit: missing
Strata 1: <one>
SU 1: <observations>
FPC 1: <zero>

20
21 . svy: prop violJUST if pid3==1 // Democrat

(running proportion on estimation sample)

Survey: Proportion estimation

Number of strata = 1 Number of obs = 2,863
Number of PSUs = 2,863 Population size = 2,933.1145
Design df = 2,862
Linearized Logit
Proportion Std. Err. [95% Conf. Intervall]
violJUST
1 0.78 0.01 0.75 0.80
2 0.10 0.01 0.08 0.12
3 0.08 0.01 0.06 0.10
4 0.03 0.01 0.02 0.04
5 0.02 0.00 0.01 0.03
99 0.01 0.00 0.00 0.01

22 . svy: prop violJUST if pid3==2 // Republican
(running proportion on estimation sample)

Survey: Proportion estimation
Number of strata = 1 Number of obs = 2,563

Number of PSUs = 2,563 Population size 2,578.4283
Design df = 2,562



23

24
25

Linearized Logit
Proportion Std. Err. [95% Conf. Interval]
violJUST
1 0.89 0.01 0.87 0.91
2 0.03 0.01 0.02 0.04
3 0.05 0.01 0.03 0.06
4 0.01 0.00 0.01 0.02
5 0.02 0.00 0.01 0.03
99 0.00 0.00 0.00 0.01
svy: prop violJUST if pid3==3 // Independent

(running proportion on estimation sample)

Survey: Proportion estimation

Number of strata = 1 Number of obs = 2,525
Number of PSUs = 2,525 Population size = 2,460.566
Design df = 2,524
Linearized Logit
Proportion Std. Err. [95% Conf. Interval]
violJUST
1 0.83 0.01 0.80 0.85
2 0.07 0.01 0.06 0.09
3 0.06 0.01 0.05 0.08
4 0.01 0.00 0.01 0.02
5 0.01 0.00 0.01 0.02
99 0.01 0.00 0.01 0.02
svy: prop violJUST if gender==1 // Men

(running proportion on estimation sample)

Survey: Proportion estimation

Number of strata = 1 Number of obs = 3,761
Number of PSUs = 3,761 Population size = 3,959.03
Design df = 3,760
Linearized Logit
Proportion Std. Err. [95% Conf. Interval]
violJUST
1 0.82 0.01 0.80 0.84
2 0.08 0.01 0.06 0.09
3 0.06 0.01 0.05 0.08
4 0.02 0.01 0.01 0.04
5 0.01 0.00 0.01 0.02
99 0.00 0.00 0.00 0.00
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27
28

29

svy: prop violJUST if gender==2 // Women
(running proportion on estimation sample)

Survey: Proportion estimation

Number of strata = 1 Number of obs = 4,448
Number of PSUs = 4,448 Population size = 4,256.5082
Design df = 4,447
Linearized Logit
Proportion Std. Err. [95% Conf. Intervall]
violJUST
1 0.84 0.01 0.82 0.85
2 0.06 0.01 0.05 0.07
3 0.07 0.01 0.05 0.08
4 0.01 0.00 0.01 0.02
5 0.02 0.00 0.01 0.03
99 0.01 0.00 0.00 0.01

svy: prop violJUST if race==1 // White
(running proportion on estimation sample)

Survey: Proportion estimation

Number of strata = 1 Number of obs = 5,961
Number of PSUs = 5,961 Population size = 5,342.3849
Design df = 5,960
Linearized Logit
Proportion Std. Err. [95% Conf. Interval]
violJUST
1 0.88 0.01 0.87 0.89
2 0.06 0.00 0.05 0.07
3 0.04 0.00 0.03 0.05
4 0.01 0.00 0.01 0.02
5 0.01 0.00 0.01 0.01
99 0.00 0.00 0.00 0.01

svy: prop violJUST if race==2 // Black
(running proportion on estimation sample)

Survey: Proportion estimation

Number of strata = 1 Number of obs = 725
Number of PSUs = 725 Population size = 943.013192
Design df = 724
Linearized Logit
Proportion Std. Err. [95% Conf. Interval]
violJUST
1 0.72 0.03 0.67 0.77
2 0.09 0.02 0.06 0.12
3 0.12 0.02 0.08 0.17
4 0.02 0.01 0.01 0.04
5 0.04 0.01 0.02 0.06
99 0.01 0.01 0.00 0.04




30

31

32

svy: prop violJUST if race==3 // Hispanic
(running proportion on estimation sample)

Survey: Proportion estimation

Number of strata = 1 Number of obs = 761
Number of PSUs = 761 Population size = 1,118.4596
Design df = 760
Linearized Logit
Proportion Std. Err. [95% Conf. Intervall]
violJUST
1 0.72 0.02 0.67 0.76
2 0.09 0.01 0.07 0.12
3 0.13 0.02 0.10 0.17
4 0.03 0.01 0.01 0.07
5 0.02 0.01 0.01 0.04
99 0.01 0.00 0.01 0.02

svy: prop violJUST if race==4 // Asian
(running proportion on estimation sample)

Survey: Proportion estimation

Number of strata = 1 Number of obs = 284
Number of PSUs = 284 Population size = 358.290317
Design df = 283
Linearized Logit
Proportion Std. Err. [95% Conf. Intervall]
violJUST
1 0.70 0.05 0.60 0.78
2 0.12 0.04 0.06 0.21
3 0.11 0.03 0.06 0.18
4 0.02 0.01 0.01 0.03
5 0.05 0.02 0.02 0.12
99 0.01 0.00 0.00 0.02

svy: prop violJUST if race==5 // Native American + Alsakan
(running proportion on estimation sample)

Survey: Proportion estimation

Number of strata = 1 Number of obs = 172
Number of PSUs = 172 Population size = 147.604634
Design df = 171
Linearized Logit
Proportion Std. Err. [95% Conf. Interval]
violJUST
1 0.88 0.03 0.81 0.92
2 0.03 0.01 0.02 0.07
3 0.05 0.02 0.02 0.10
4 0.00 0.00 0.00 0.03
5 0.03 0.02 0.01 0.09
99 0.01 0.01 0.00 0.03




33

34
35

36

svy: prop violJUST if race==6 // Multiple races
(running proportion on estimation sample)
Survey: Proportion estimation
Number of strata = 1 Number of obs 271
Number of PSUs 271 Population size = 299.041105
Design df = 270
Linearized Logit
Proportion Std. Err. [95% Conf. Intervall]
violJUST
1 0.74 0.04 0.65 0.82
2 0.10 0.03 0.06 0.17
3 0.08 0.03 0.05 0.15
4 0.05 0.03 0.02 0.15
5 0.02 0.01 0.01 0.05
99 0.00 0.00 0.00 0.00
svy: prop violJUST if pid3==1 & race==1 // White Democrat
(running proportion on estimation sample)
Survey: Proportion estimation
Number of strata = 1 Number of obs = 1,766
Number of PSUs = 1,766 Population size = 1,480.6194
Design df 1,765
Linearized Logit
Proportion Std. Err. [95% Conf. Interval]
violJUST
1 0.83 0.01 0.80 0.86
2 0.09 0.01 0.07 0.12
3 0.04 0.01 0.03 0.05
4 0.02 0.01 0.01 0.03
5 0.01 0.00 0.01 0.02
99 0.00 0.00 0.00 0.01

svy: prop violJUST if pid3==2 & race==1 // White Republican
(running proportion on estimation sample)
Survey: Proportion estimation
Number of strata = 1 Number of obs = 2,227
Number of PSUs = 2,227 Population size = 2,139.7438
Design df 2,226
Linearized Logit
Proportion Std. Err. [95% Conf. Interval]
violJUST
1 0.92 0.01 0.90 0.94
2 0.02 0.00 0.02 0.04
3 0.04 0.01 0.02 0.05
4 0.01 0.00 0.01 0.02
5 0.01 0.00 0.00 0.02
99 0.00 0.00 0.00 0.00




37
38 . set cformat %9.2f

39 . svy: reg violJUST i.pid3 i.race i.gender if violJUST<10
(running regress on estimation sample)

Survey: Linear regression

Number of strata = 1 Number of obs = 7,815
Number of PSUs = 7,815 Population size = 7,860.7523
Design df = 7,814
F( 8, 7807) = 10.40
Prob > F = 0.0000
R-squared = 0.0414
Linearized
violJUST Coef. Std. Err. t P>t [95% Conf. Intervall]
pid3
2 -0.09 0.04 -2.14 0.032 -0.17 -0.01
3 -0.08 0.04 -1.97 0.049 -0.15 -0.00
race
2 0.32 0.07 4.68 0.000 0.18 0.45
3 0.29 0.06 5.01 0.000 0.18 0.40
4 0.37 0.11 3.36 0.001 0.15 0.59
5 0.07 0.09 0.83 0.404 -0.10 0.25
6 0.31 0.10 2.93 0.003 0.10 0.51
2.gender -0.05 0.03 -1.61 0.107 -0.11 0.01
_cons 1.28 0.04 32.87 0.000 1.21 1.36

40 .
end of do-file

41 . log close
name: <unnamed>

log: C:\Users\ljzig\Desktop\ANES 2020 Political Violence.smcl

log type: smcl
closed on: 9 Mar 2021, 14:26:56




